
WALL MOUNT FIXTURE
INSTALLATION  INSTRUCTIONS 

Please read carefully and save these instructions, as you may need them at a later 
date.

CAUTION
Turn off the main power at the circuit breaker before installing the fixture, in order to 
prevent possible shock.

GENERAL
All electrical connections must be in accordance with local and National Electrical 
Code (N.E.C.) standards.  If you are unfamiliar with proper electrical wiring 
connections obtain the services of a qualified electrician.

Remove the fixture and the mounting package from the box and make sure that no 
parts are missing by referencing the illustrations on the installation instructions.

ASSEMBLY AND INSTALLATION

1. Attach the #8-32 FIXTURE MOUNTING SCREWS (2) to the MOUNTING BRACKET (3) 
and place the #8-32 HEX NUTS (5) onto the #8-32 FIXTURE MOUNTING SCREWS (2).  
Do not tighten the #8-32 HEX NUTS (5) at this time.

2. Pull the power supply wires out from the OUTLET BOX (1), and mount the MOUNTING 
BRACKET (3)  to the OUTLET BOX (1), using MOUNTING SCREWS (4).

3. Attach the BLACK SUPPLY WIRE (9) to the BLACK FIXTURE WIRE (10) and the WHITE 
SUPPLY WIRE (11) to the WHITE FIXTURE WIRE (12) using WIRE NUTS (8).  Connect 
the FIXTURE GROUND WIRE(7) to the POWER SUPPLY GROUND WIRE(6) using a 
WIRE NUT(8) (not included).

4. Place the CANOPY (13) over the OUTLET BOX (1) and onto the #8-32 FIXTURE 
MOUNTING  SCREWS (2), and adjust the #8-32 FIXTURE MOUNTING SCREWS (2) until 
they protrude out from the CANOPY(13) 1/4".  Remove the CANOPY (13) and secure the 
position of the #8-32 FIXTURE MOUNTING SCREWS (2) by tightening the #8-32 HEX 
NUTS (5) against the MOUNTING BRACKET (3). Place the CANOPY (13) back onto the 
#8-32 FIXTURE MOUNTING  SCREWS (2), and secure it into place using the 
DECORATIVE NUTS (14) provided.

ASSEMBLY AND INSTALLATION (Continued)

9.  BLACK SUPPLY WIRE
10.  BLACK FIXTURE WIRE
11.  WHITE SUPPLY WIRE
12.  WHITE FIXTURE WIRE
13.  CANOPY
14.  DECORATIVE NUT

1.   OUTLET BOX
2.  #8-32 FIXTURE MOUNTING SCREW 
3.   MOUNTING BRACKET
4.   MOUNTING SCREW
5.   #8-32 HEX NUTS
6.   POWER SUPPLY GROUND WIRE
7.   FIXTURE GROUND WIRE
8.   WIRE NUT

2413

910 8 6714 1112



Por favor lea cuidadosamente y guarde estas instrucciones, puede necesitarlas
posteriormente.

PRECAUCION

Desactive la electricidad del cortacircuitos antes de empezar la instalación de el 
luminario para evitar una descarga eléctrica.

INFORMACION GENERAL

Todas las conexiones eléctricas deben realizarse conforme al Código Eléctrico Nacional
y a los códigos eléctricos locales. La instalación eléctrica debe ser realizada por un 
electricista calificado.

Retire el luminario y el paquete de instalación de la caja y verifique que cuenta con 
todas las partes referentes a la ilustración de la hoja de instrucciones.

ENSAMBLAJE E INSTALACION

1. Enrosque los tornillos de montaje (2) a la placa (3) y coloque tuercas 8/32 IPS (5) en 
el tornillo de montaje (2).  No apriete la tuercas 8/32 IPS (5) todavia.

2. Hale los alambres de corriente eléctrica de la caja de conexión (1) e instale la placa
(3) a la caja de conexión (1) utilizando dos tornillos (4) con cuerda 8/32 IPS.

3. Conecte los cables de alimentación a los cables procedentes del luminario, uniendo
el cable negro del luminario (10) con el cable de alimentación negro (9), y el cable 
blanco de la lámpara (12) con el cable de alimentación blanco (11) usando los 
conectores (8). Conecte el alambre a tierra de la caja de conexión (6) con el alambre
a tierra del luminario (7) usando sus respectivos conectores (8) (no incluidos).

4. Coloque el plato (13) del luminario sobre la caja de conexión (1) y verifique que los 
tornillos (2) o tubo con cuerda de la placa (3) sobresalgan por lo menos 0.635mm 
(1/4 de pulgada), remueva el plato (13) y apriete las tuercas (5) en los tornillos (2) o 
tubo de la placa (3), sin que los tornillos (2) o tubo giren mas, coloque de nuevo el 
plato (13), sobre los tornillos (2) o tubo de la placa y apriételos utilizando las bolitas
o botoncitos (14) decorativos.

ENSAMBLAJE E INSTALACION (Continuación)

9.   CABLE DE ALIMENTACION NEGRO
10.  CABLE NEGRO DEL LUMINARIO
11.  CABLE DE ALIMENTACION

BLANCO 
12.  CABLE BLANCO DEL LUMINARIO
13.  PLATO DEL LUMINARIO
14.  BOLITA O BOTONCITO

DECORATIVO

1.   CAJA DE CONEXION
2.   TORNILLO DE MONTAJE DEL LUMINARIO
3.   PLACA
4.   TORNILLOS 8/32 IPS DE MONTAJE 
5.   TUERCA 8/32 IPS DE CUERDA
6.   ALAMBRE A TIERRA DE LA CAJA 

DE CONEXION
7.   ALAMBRE A TIERRA DEL LUMINARIO               
8.   CONECTORES

2413

910 8 6714 1112

ACCESORIO PARA MONTAR EN LA PARED
INSTRUCCIONES DE MONTAJE E 

INSTALACIÓN



Lire attentivement ce mode d’emploi et le conserver pour l’avenir.

ATTENTION
Couper le courant au niveau du disjoncteur avant d’installer la lampe pour éviter tout 
risque de secousse électrique.

GENERALITES
Toutes les connexions électriques doivent être conformes aux réglementations nationales et 
locales en matière d’installations électriques. En cas d’incertitude sur le raccord correct du 
câblage électrique, s’adresser à un électricien qualifié.

Sortir la lampe et les accessoires de montage de la boîte et vérifier qu'aucune pièce ne manque 
en se reportant aux illustrations des instructions d'installation.

ASSEMBLAGE ET INSTALLATION

1. Visser les VIS D’ASSEMBLAGE No. 8-32 (2) sur le SUPPORT DE MONTAGE (3) et 
enfiler les ECROUS HEXAGONAUX No. 8-32 (5) sur les VIS D’ASSEMBLAGE (2) sans 
toutefois les serrer pour le moment.

2. Tirer les câbles d’alimentation hors de la BOITE DE DISTRIBUTION (1), et fixer le 
SUPPORT DE MONTAGE (3) sur la BOITE DE DISTRIBUTION (1) à l’aide des VIS DE 
MONTAGE (4).

3. Attacher le CABLE  D’ALIMENTATION NOIR (9) au CABLE NOIR DE LA LAMPE (10), 
et le CABLE D’ALIMENTATION BLANC (11) au CABLE BLANC DE LA LAMPE (12) à
l’aide des CONNECTEURS (8). Raccorder le FIL DE TERRE DE LA LAMPE (7) au FIL DE 
TERRE DE L’ALIMENTATION (6) en utilisant un CONNECTEUR (8) (non fourni).

4. Positionner la MONTURE (13) sur la BOITE DE DISTRIBUTION (1) et sur les VIS 
D’ASSEMBLAGE No. 8-32 (2), puis ajuster ces dernières de manière à ce qu’elle dépassent 
de la MONTURE (13) de 6 mm environ. Retirer la MONTURE (13) et fixer les VIS 
D’ASSEMBLAGE No. 8-32 (2) à leur place en serrant les ECROUS HEXAGONAUX No. 8-
32 (5) contre le SUPPORT DE MONTAGE (3). Remettre la MONTURE (13) sur les VIS 
D’ASSEMBLAGE No. 8-32 (2), et la fixer à sa place à l’aide des ECROUS DECORATIFS 
(14) fournis.

ASSEMBLAGE ET INSTALLATION (suite)

9.    CABLE D’ALIMENTATION NOIR
10.  CABLE NOIR DE LA LAMPE
11.  CABLE D’ALIMENTATION BLANC
12.  CABLE BLANC DE LA LAMPE
13.  MONTURE
14.  ECROU DECORATIF

1.   BOITE DE DISTRIBUTION
2.   VIS D’ASSEMBLAGE No. 8-32 
3.   SUPPORT DE MONTAGE
4.   VIS DE MONTAGE
5.   ECROU HEXAGONAL  No. 8-32
6.   FIL DE TERRE DE L’ALIMENTATION
7.   FIL DE TERRE DE LA LAMPE
8.   CONNECTEUR

2413

910 8 6714 1112

LUMINAIRE MURAL
ASSEMBLAGE ET INSTALLATION 




